



Page 1 of 1

Vendor Ranking

Letting: 03200409 April 09, 2020 2:00 PM **Call Order:** ₀₀₈ **Contract:** E3T76-R0

District: District 3 Counties: SANTA ROSA Fed Aid No: N/A

Contract Time: 06/30/21 COMPLETION DATE Project(s): 42378127229 (*)

Contract Desc: DISTRICTWIDE BDI PROJECTS - MAINTENANCE - POND MOWING

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	NORTHWEST FLORIDA OUTDOORS	Responsive	Winning bid	\$84,530.65	100.00%
2	GULF COAST ENVIRONMENTAL CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$87,061.49	102.99%
3	T&D MOWING	Responsive	Non-Winning Bid	\$98,169.15	116.13%
4	K & W MOWING, LLC	Responsive	Non-Winning Bid	\$99,516.38	117.73%
5	VALLE MANAGEMENT, LLC	Responsive	Non-Winning Bid	\$103,950.30	122.97%
6	DONOVANS MOWING LLC	Responsive	Non-Winning Bid	\$109,665.54	129.73%
7	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$149,720.96	177.12%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 5

Letting: 03200409 April 09, 2020 **Call Order:** 008 **Contract:** E3T76-R0

District: District 3 Counties: SANTA ROSA Fed Aid No: N/A

Contract Time: 06/30/21 COMPLETION DATE

Project(s): 42378127229 (*)

Contract Descr: DISTRICTWIDE BDI PROJECTS - MAINTENANCE - POND MOWING

The Improvements under this Site-Specific Work Document-Driven Contract consist of the routine maintenance of specified storm water retention ponds in Santa Rosa County, as shown in the Appendices. This includes the mowing of grassed and vegetated areas, the removal and disposal of litter and other objectionable debris, the cleaning of all vines and other vegetation from the fence fabric, and hand trimming at the base of the fence. Fence cleaning, Mobilization and Maintenance of Traffic are incidental to the pay items listed.

A Business Development Initiative reference sheet is required to be submitted with Bid Documents.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by

FDOT. Small business size standards can be found at http://www.fdot.gov/equalopportunityoffice/bdi.shtm. For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html Prequalification per Rule 14-22 is not required. Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: http://www.fdot.gov/contracts/forms/forms.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us. All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work. Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code. Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application. BDI Reference Sheet may be found at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form. Form No. 375-020-09). A Contract Bond is not required for contracts \$250,000,00 and less.

		(1) NORTHWEST FLORIDA OUTDOORS		(2) GULF COAST ENVIRONMENTAL		(3) T&D MOWING	
() indicates item is bid as Lump Sum	Unit Price	Ext Amount	CONTRACT Unit Price	ORS, INC. Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (SLOP	PE MOWING (AC						
0005 E104 4 2 6 MOWING (SLOPE)	AC 55.00000	35,504.70	64.50000	41,637.33	32.00000	20,657.28	
0010 E104 4 3 MOWING (SMALL MACHINE)	1.350 55.00000 AC	74.25	25.00000	33.75	27.00000	36.45	



04/30/2020

Tabulation of Bids

Page 2 of 5

Letting:	03200409	April 09, 2020	Cal	II Order: 008		Contract:	E3T76-R0	
Line No / Item ID Alternate Item Description		te Quantity Units	(1) NORTHWEST FLORIDA OUTDOORS		(2) GULF COAST ENVIRONMENTAL		(3) T&D MOWING	
	tem is bid as Lump Sum		Unit Price	Ext Amount	CONTRACT Unit Price	ORS, INC. Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SLOPE MOWI	NG (AC					
0015 E104 MOWING (INT	4 4 ERMEDIATE MACHI	653.580 NE) AC	55.00000	35,946.90	59.50000	38,888.01	29.00000	18,953.82
0020 E110 LITTER REMO		1,300.480 AC	10.00000	13,004.80	5.00000	6,502.40	45.00000	58,521.60
0001 SLC	OPE MOWING (AC)	Section Totals:		\$84,530.65		\$87,061.49 [']		\$98,169.15
	Contract C	Grand Totals:		\$84,530.65		\$87,061.49		98,169.15





Tabulation of Bids

Page 3 of 5

Lettin	g : 03	3200409	April 09, 2020	Cal	l Order: 008		Contract:	E3T76-R0	
		e Quantity Units	(4) K & W MOWING, LLC		(5) VALLE MANAGEMENT, LLC		(6) DONOVANS MOWING LLC		
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SLOPE MOWII	NG (AC					
0005 MOWIN	E104 4 2 IG (SLOPE)		645.540 AC	75.00000	48,415.50	67.00000	43,251.18	110.00000	71,009.40
0010 MOWIN	E104 4 3 IG (SMALL MA	CHINE)	1.350 AC	100.00000	135.00	1.00000	1.35	100.00000	135.00
0015 MOWIN	E104 4 4 IG (INTERMED	DIATE MACHIN	653.580 IE) AC	74.00000	48,364.92	67.50000	44,116.65	47.00000	30,718.26
0020 LITTER	E110 30 REMOVAL		1,300.480 AC	2.00000	2,600.96	12.75000	16,581.12	6.00000	7,802.88
00	001 SLOPE MC	OWING (AC) S	ection Totals:		\$99,516.38		\$103,950.30		\$109,665.54
		Contract G	rand Totals:		\$99,516.38		\$103,950.30		109,665.54



04/30/2020

Tabulation of Bids

Page 4 of 5

Lettin	g:	03200409	April 09, 2020	Cal	l Order: 008		Contract:	E3T76-R0	
	No / Item I		e Quantity Units	(7) AIRBOAT A	DDICTS, INC.				
	-	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	N: 0001	(SLOPE MOWII	NG (AC					
0005 MOWIN	E104 4 2 IG (SLOPE)		645.540 AC	114.00000	73,591.56				
0010 MOWIN	E104 4 3 IG (SMALL I		1.350 AC	890.00000	1,201.50				
0015 MOWIN	E104 4 4 IG (INTERM	EDIATE MACHII	653.580 NE) AC	45.00000	29,411.10				
0020 LITTER	E110 30 REMOVAL		1,300.480 AC	35.00000	45,516.80				
00	001 SLOPE	MOWING (AC) \$	Section Totals:		\$149,720.96				

Contract Grand Totals:

\$149,720.96



04/30/2020

Tabulation of Bids

Page 5 of 5

Letting: 03200409 April 09, 2020 **Call Order:** 008 **Contract:** E3T76-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.